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PLACE VALUE TO 1DP: EXPAND IT 2 
Write these numbers in expanded form. 

 

1) 43.8 = 40 + 3 + 0.8 

2) 79.5 =  

3) 25.3 =  

4) 30.9 =  

5) 17.6 =  

6) 48.2 =  

7) 27.8 =  

8) 103.6 =  

9) 81.4 =  

10) 210.5 =  

11) 18.7 =  

12) 312.9 =  

13) 43.8 =  

14) 60.3 =  

15) 57.2 =  

16) 114.6 =  

17) 207.3 =  

18) 480.6 =  

19) 67.8 =  

20) 421.7 =  
 



Name Date 
 

 
 

PLACE VALUE TO 1DP: EXPAND IT 2 ANSWERS 
Write these numbers in expanded form. 

1) 43.8 = 40 + 3 + 0.8 

2) 79.5 = 70 + 9 + 0.5 

3) 25.3 = 20 + 5 + 0.3 

4) 30.9 = 30 + 0.9 

5) 17.6 = 10 + 7 + 0.6 

6) 48.2 = 40 + 8 + 0.2 

7) 27.8 = 20 + 7 + 0.8 

8) 103.6 = 100 + 3 + 0.6 

9) 81.4 = 80 + 1 + 0.4 

10) 210.5 = 200 + 10 + 0.5 

11) 18.7 = 10 + 8 + 0.7 

12) 312.9 = 300 + 10 + 2 + 0.9 

13) 43.8 = 40 + 3 + 0.8 

14) 60.3 = 60 + 0.3 

15) 57.2 = 50 + 7 + 0.2 

16) 114.6 = 100 + 10 + 4 + 0.6 

17) 207.3 = 200 + 7 + 0.3 

18) 480.6 = 400 + 80 + 0.6 

19) 67.8 = 60 + 7 + 0.8 

20) 421.7 = 400 + 20 + 1 + 0.7 
 

 

 


